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o Eighteenth IMC International Mathematics Preliminary Contest (Taiwan)
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1. 981—=[ ]—>1011—>[ [>1041—>1056 > 7% . 0 ficdp 4r £_% 2 (A)2020 (B)2021
(C)2022 (D)2023

<fZ{7>

1056-1041=15

981+15+1011+15=996+1026=2022 > :£ C -

2. G B A& B BcE 4009 ~ 9000 ~ 7050 ~ 8509 5 B B £ W ik 4 A B R 2 (A)2 (B)3
(C)4 (D)3

<f%47>

4009—>m * £ 4 > 9000—>4 + 5 7050—>= * E I -+ 5 8509—>~F T F E 4

1+0+1+1=3 > ?;g 413 ]*B;j’c; , 1%” B -

3. 4% F Ay L 4T H@% 500 45 L ~18 3%k 100 ~ 45 £ fr 14 42 50 ~ A > @=? (A)2

(B)3 (O)4 (D)3
<fZ{7>
18%x100=1800 > 14x50=700
1800+700=2500
4000-2500=1500
1500=500+500+500 » ¥ 3% 3 5k 500 ~ » iF B

4. #cF 8648 7 o B2 B8 H g L8 % 0 22 (A)] (B)10 (C)100 (D)1000
<fZ{7>

B % % e 8—8000

B+ 18>8

8000+8=1000 » % D -
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5. Angle was calculating 9+8+7+6+5+4+3+2+1, but she found that one of the addition
symbols was wrong. It should be the subtraction symbol, and finally the result was 31.
Which one symbol she was wrong? (Counting from left to right) (A) the first (B) the
second (C) the third (D) the fourth

<fE{7>

9+8+7+6+5+4+3+2+1=45

45-31=14> ¥ 4 - BiEY D5

A 14=7+7 > 3 +7 227 ¥ > i Bo

6. FHEFH ;g:,_:ug; D49 F o T EN S AT B T 5 2]
PR 4 3 £ 005 e K2 (A)520 (B)374 (C)562 (D)332

<jzie>

T = =149+47=196

o+ =196-21=175

149+196+175=520 » i A o

2022
7. 4Bl T e A BEFARG G @Y 6ol o B WElcE L5 00 B

(A)342 (B)346 (C)350 (D)354
<fE{7>
5 ¥pandic: L[]
822+ [+492+ 1=2022
1314+ ]x2=2022
[ [x2=708—[ =354 :Z D -

8. IS SP(AMA)EX DAL B I8 2P 4w Fo e fung 2 44
HA2A)EDHP BEF- (OrH1 (D)EH

<fZ{7>

31-8+1=24

24+30+31+22=107

107+7=15.....2

P 2—>8 0 22 p A EHp o EA

9. 3t 337x(4x3-3x2)=? (A)2022 (B)4038 (C)6066 (D)3082
<ﬁ¢+fr>

A LA

4x3-3%x2=6

337x6=2022 > iF A -
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10. Which one answer has the largest remainder? (A)104+6 (B)187+7 (C)99+8 (D)207+9

<fE$7>
104+6=17....2
187+7=26....5
99+8=12.....3
207+9=23....0

Hlck <~ . 5 F Be

11 E 4D 3R 3ol > B R 40T 4
RN | B | A | B &
ER RSR| 288 | 4E A Rk | 145
By ak |39 | Exxr M

BREOERERRCEFRRAABEFRE 2B 22022 7 0 R EF Mg
55 22 (A)I55 (B)150 (C) 140 (D)145

<fE$7>

288x4=1152

145%x2=290

2022-1152-290=580
580+4=145 % D o

12. LB b BAOE S @BEA T - % BFahEs I ABLAT - 2 A
@ A-2(A)9 (B)I0 (O11 (D)12

<fE{7>

- X &7 R E(FEHE 424 B

- B AT meH(PR A E 42xT7=14 B

24-14=10 - :# B -

13. g s 312 A0 23 E T Ao AR~ AT AAR S 124
STrL) S en ] IR E 450 A 2 (A)100 (B)104 (C) 112 (D)116

<fE{7>

12x1=12

312-12=300

300+(5+1)=50

50+50+12=112 » & C o
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14228 220 2% #= FE2(A22 (B)2202 (C)222 (D)2022

<fZ47>
2 2 -=2000 % ¥ »2 2 &4=20% K
A1 2000+20+2=2022 > i£ D -

15, L-C =< C-C-)
Fill in the numbers 1~7 in the blanks, do not use the numbers repeatedly, and complete the
calculation. [l1=? (A)2 (B4 (B)6 (D)7

<f%47>

5-4-1=Tx(6-2x3)

W=7 %D-

16. 4377 £F3RE & > & I83F N & & 3 ~ 4@1’,{—1 Moo b 6 BrgS o B A 12
AR RS - Bl - BB BT 5 oA 7 (A)126 (B)114 (C)120
(D)108

<fjE{7>

6+1=7

18x7=126

126-12=114 > £ B o

17. 4§rir;ff'ra@%v? vl 3R EATAL T e 2 ool s
A e 3B B AR 1~ - B A B RAES P~
(A)5 (B)6 (C)8 (D)10
<jiz 45>
1442 =12 44p 8 > Ly hp =6 fogn i
58x2=116
116-111=5 > i A -

h
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)
o0
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b
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-

18. % 102 =84 4@ % » 5 8 =83 ti- FIEH > HEXFTEEFSTELA 52
(A)I1 (B)12 (O)13 (D)l4

<jiz 45>

102+8=12...6

12+1=13 > 3E C -
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19. PP eni®E & F: AAIe § 23> s RFT 8L BRASA] [

A (B)7 (C8 (D)9
<jri>
IR Hc 8+8=16
16+4x3=12
12-4=8 > i C »

20. Andy divides the 98 apples into several boxes. Each box can contain 7, 8, or 9 apples.The
8-apple box has one more box than the 7-apple box, but one less than the 9-apple box. How
many boxes does Andy has? (A)12 (B)10 (C)11 (D)I3

<fE{7>

7+8+9=24

24x4=96 » 98-96=2(% it A )

24x3=72 » 98-72=26

26=8+9+9 5 £ F 3+4+5=12 1 » i Ao

21, BAP e F o BT ISTHE > Z RPN REFERD Gz BT g @
2 fem 2120 FEA=2(A)2 (B)5 (O1 (D)6 %

<f#i7> O

®© ® OO

OS OO ONORO)

© O« O

5 b=l E C

22, BREFE: a B A b BETAARFE DA, Ratb=2?(A)16
(B)17 (C)18 (D)19

<j#>

I3 A5=7+1=8

£ % A5=4+3+2+1+1=11(1 i 4x1 > 3 i 3x1 > 7 i 2x1)

Ala+b=8+11=19 » & D -
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23, ISR A GFEF B - FEF R4S SEH BB FEFIEE AL R LT
SR 9E K i @’# I ERAARY. W 3 7 T ¥ - FEdE 20 E K?2(A)20(B)M4S
(©)52 (D)60

<fat5>

1 24=10 %

79+14=93

03-45=48 » ¥ B -

24, #4842 uig [ e @ ¢ 17 PR3y 2 [ @30 - R 5 [ +@=2(A)12(B)14

(C)16 (D)18
<fiz 45>
48-3=45
45=5%9 > e«:“f f W E 5409
F 5+9=14 > £ B -

25. There is a book with 48 pages. Bill wants to finish reading it in four days, and he reads 4
more pages every day than the previous day. How many pages does he read on the fourth
day? (A)12 (B)14 (C)l6 (D)18

<fz47>

48-4-8-12=24

24+4=6

12+6=18 » ¥ D -

S P EM(EA A £ 504 FB R ER T TERA)

1. #- T RERS[NE N 243445 6+7 ~ 849~ 10+11 ~ ..., SN R e
101?

<fEtr>

BLZ A oA £ 3R AL

(101-1)+2=50

t 50+51 0 % 25 B & 5N
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2. Bavkp - B f g4 BB AT £

5 Hp -

i

Ve

BECH| 332 | @

294

194 | @ | 344

He 3 a2 ¢ dend L B IR 5 2 2 die

g1 20228541 R EH PO S A ALY

<fZ47>
332+294+194+344=1164
2022-1164=858

@@+ Hl-358
858-(332+332)=194

e E PR 194 4 o
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